[image: image1.png]



KMTC/QP-08/TIS
KENYA MEDICAL TRAINING COLLEGE-MOMBASA CAMPUS

DEPARTMENTS OF PHARMACY
CONTINUOUS ASSESSMENT TEST
MEDICAL PHYSIOLOGY
SEPTEMBER 2011 CLASS
COLLEGE NUMBER-----------------------------------------------

Circle the most correct answer in questions 1-20.   

The graph below illustrates the action of insulin on the concentration of glucose in the blood. The insulin was injected intravenously at ‘0’ minute.  Use it to answer questions 1, 2 and 3.
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1. Which of the following best explains the phase of the graph between 0 and 40 minutes?  
a) The blood glucose concentration drops due to the positive feedback effect of insulin.

b) The concentration of glucose in blood drops due to the negative feedback effect of insulin.

c) Insulin catalyses the conversion of glucose into energy.

d) Insulin stimulates the excretion of glucose through sweat and urine.

2. In this system of homeostasis, what would be the correct explanation for the brief rise in blood glucose concentration between 40 and 80 minutes?
a) The corrective mechanism restores the normal level of blood glucose by negative feedback.

b) Further fall in the level of blood glucose is prevented by positive feedback.

c) A sensor detects the drop in glucose level and any further drop is prevented by the brief rise.
d) Both a and b are correct.
e) Both a and c are correct

3. What is the source of the glucose that causes the brief rise in blood glucose concentration between 40 and 80 minutes?

a) The conversion of glycogen to glucose.
b) Glucose ‘freed’ from its reaction with insulin.

c) Glucose obtained directly from dietary intake.

d) The conversion of glucose to glycogen.
The graph below illustrates the action of a carrier protein that is capable of transporting molecules of either substance X or Y. Use it to answer question 4 and 5.
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4. Apart from saturation, which other property of carrier proteins does the graph highlight?
a) Specificity
b) Competition

c) Inhibition

d) Selectivity
5. How does the presence of both molecules in a fluid compartment affect the ability of the carrier protein to transport molecules of only one of the two?

a) The carrier transports none of  X or Y
b) The carrier transports more of each

c) The carrier transports less of  X and less of Y but in equal concentrations

d) The carrier transports more of Y than X
6. Which of the following statements about buffers is true?

a) One buffer system can correct changes in acidity or alkalinity.

b) Kidneys perform their role as the body’s most powerful buffer organs quite rapidly. 

c) Buffer systems of the body are located in the lungs and kidneys only.

d) A buffer replaces an acid with an alkali.

7. Which of these units is the molecular weight of a substance expressed in grams?

a) Osmole

b) Equivalent

c) Normality

d) Mole

8. Which of these statements about cell division in somatic cells is not true?

a) It takes place during human growth.

b) It preserves the diploid constitution of chromosomes in humans.

c) It ensures that the chromosomes type in the human genome does not change.

d) None of the above. 
9. Which of the following statements about location and function of lymphoid tissue is true?
a) Located in the lungs and facilitates movement
b) Located in the lumen of blood vessels  and facilitate filtration

c) Located beneath the skin and facilitate protection against loss of body heat

d) Located in the tonsils and offer protection against infective microorganisms

10. Define oxidative phosphorylation

a) The synthesis of adenosine triphosphate within mitochondria
b) The addition of a phosphate to a protein molecule

c) The hydrolysis of adenosine triphosphate to liberate energy

d) The addition of a oxygen to a protein molecule

11. Which subunit of the Na+-K+Pump contains the adenosine triphosphate –binding site?
a) The α-subunit

b) The β-subunit
c) Both α and β-subunits

d) The γ-subunit

12. According to the All-or-none law 

a) The overshoot of the action potential does not exceed +35 mV

b) The gates of Na+ ion channels only open to a stimulus of threshold value

c) A single Excitatory Post-synaptic Potential cannot produce a depolarization wave

d) All of the above

13. During the relative refractory period of action potential
a) A second action potential can never be generated

b) The membrane can be depolarized easily and readily

c) A second action potential can be generated only if the stimulus is very strong

d) The membrane is absolutely refractory

14. Why is the physiologic effect of norepinephrine secreted as a neurotransmitter so short-lived compared to that of epinephrine secreted at the adrenal medulla?
a) Epinephrine is the more stable of the two catecholamines

b) Norepinephrine is readily metabolized by monoamine oxidase in the post synaptic membrane

c) Norepinephrine is secreted in less quantity

d) The adrenal medullary cells are always hyperactive hence secrete large volumes of epinephrine

15. Which of the following responses is not produced upon stimulation of the parasympathetic nervous system?

a) Constriction of the pupils

b) Secretion of tears
c) Increased gastrointestinal function

d) Secretion of sweat

16. What is the cause of the slight delay that occurs during the overshoot of action potential?

a) The slow closing of Na+ ion channels

b) Rapid opening of K+ ion channels

c) The slow opening of K+ ion channels

d) Rapid opening of Na+ ion channels

17. Which of the following functions can be lost if the occipital lobe of the cerebrum is injured?

a) Speech
b) Hearing

c) Vision

d) Smell

18. In which part of the brain are sensory impulses analyzed, recognized and identified with the part of the body from which they originated?

a) The association sensory cortex
b) The primary sensory area

c) The pre-motor area

d) The limbic system

19. Which of the following statements is true?

a) Glutamate and aspartate are the main excitatory neurotransmitters in the central nervous system

b) Water is not lipid-soluble but water molecules are able to diffuse freely across the

 cell membrane because they have a small molecular diameter and neutral charge

c) Action potential begins at the initial segment of a neuron because that part is unmyelinated, has a high concentration of voltage –gated ion channels and  a low threshold compared to other portions of the axon membrane

d) All  the above

20. What is the normal proportion of total body water in a newborn?

a) 70% 

b) 60%

c) 50%

d) 40%
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